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ABSTRACT. The present paper envisages the g-analogue of the exponential operators, de-
termined by G. Dattoli and his collaborators for translation and diffusive operators which
were utilized to establish analytical solutions of difference and integral equations. The
generalization of their technique is expected to cover wide range of such utilization.

1. Introduction and Motivation

One of the most appealing results to come out of g-analysis is that the g¢-
exponential function, defined by Dgjeg = ey , where D, is the g-derivative, also
satisfies the same defining functional relationship for ordinary exponential func-

tions (up to normalization), given by
(1.1) F(z)F(y) = F(z &y),

provided that xy = ¢ 'yz. (that is, (z,y) belongs to the Manin quantum plane).
This result was first found by Schiitzenberger [17] long before the non-commutative
aspects of g-analysis were generally recognized and has been rediscovered many
times subsequently e. g. in [1, 7]. It can be proved by means of g-combinatorics
[1, 17], or by an argument based on the definition of the g-exponential as an eigen-
function of the g-derivative [7].

Besides the above well-known result, there is, in fact, an additional functional re-
lation in the opposite order for the g-exponential functions, which is not so well
known given by

(1.2) F(y)F(z)=F(z+y+ (1—q "yz)

provided that the same condition 2y = ¢~ 'yx holds. We first became aware of
this relationship in the work of L. Faddeev and A. Yu Volkov in their study of
lattice Virasoro algebra [6] who obtained a similar result in the case of a different
realization of the g-exponential, in terms of an infinite product. Their definition
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of the g-exponential suffered from the drawback that it did not go over into the
ordinary exponential function in the commuting limit ¢ — 1. This paper is devoted
to the discussion of methods which provide the solution of the classes of g-difference
and generalized Heat equations and we shall see that the techniques we propose offer
reliable analytical tools and efficient numerical algorithms.

For completeness we quickly review Schiitzenberger [17] and Cigler’s result [1], which
will be used in our subsequent proof:

(1.3 rey = ez, if ay=q ya,
where
- = z" 1—q"
=X e o= bt = b= 1 [1
n=0 a:

and g-addition is defined as

n

(x@y)nEZ[Z] xkyn*k, n:071727"'7$7éy,
k=0 q

g-substraction is defined as
rTOYy = rD—y.

The Nalli-Ward ¢-Taylor formula [15, p. 345], [19, p. 259],
< ATDr

—o [r]g!

(1.4) flza ) = (z).

In 2000, Dattoli and Levi[2] discussed general methods for the solution of differ-
ence equations, which appear in physical and biological problems. Their technique
play crucial role in unifying the generalized families of the difference equation.

In the present paper we have determined the g-analogue of the exponential oper-
ators of the type eé‘p(x)Dq used in [2], where | ¢ |< 1, p(x) is a given function

and D, = [%]q. The action of the g-exponential operator on the generic function
f(x) is defined as

(L5) AP £ ()
To find the change of variable, put x = (), let
d d df 1
o ft] <18« 2
dz |, o], dz |, p(x)
i.e.

(1) @), = o |57 = wew
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let us write g-antiderivative of eq.(1.6), which is also known as Similarity Factor

(SF)

(1.8) 0 = /I;l(q;) or o Hz) = /“";l(qf)

now return to the main operator, we have

Ap(z) [ £+ ]

€q “flx) =

the ¢-Taylor series expansion enables to write

A 5]
€q

“fe(0))

f@(0) = fle(@ @)

Al5]
€q

or

() [ 5],

(1.9) €q f@) = fle(e™ (@)@ N)

where eq. (1.8) denotes g-antiderivative of the eq. (1.6) and ¢(-) its inverse.
For p(x) = 1, the p~1(x) is given by

(1.10) G

therefore p(x) = x, then the operator reduces to the translation or ¢-shift operator
as follows

A
(111) el f@) = fp o) = FO@a).
Next example of application of the operator (1.5), for p(z) = “:fgg_ql) = xh,
(say) we obtain
1 1
(1.12) o) = [ g = o)

therefore, p(x) = ey, then the operator (1.5) reduces to the g-dilatation operator
(see [8; eq. (9.12), p.32])

d
113) & @) = et e @) = @) = faed).

As the ordinary shift operators and their properties play a central role within
the context of the theory of difference equations [10]. One can, therefore, suspect
that the above g-exponential operators and the wealth of their properties can be
exploited to develop tools which allow the solution of different forms of ¢-difference
equations.
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2. g-Analogue of the Generalized Difference Equations

A simple example to understand how the g-exponential operators can help us
to solve g¢-difference equations may be illuminating. Let us consider the linear g-
dilatation difference equation of the type

(2.1) bif(erx) + baf(eqz) + b f(x) =0,
which, according to eq. (1.13), eq. (2.1) can be written in the following form

th[%]q mh[%]q _
(22) by €q + b2€q + b3 f(l‘) =0.

Suppose f(z) = R™(*) we have

eq/\mh[%]qunq(x),
here p(x) = % = zh, then ¢7!(z) = Iny(x) and p(x) = e
or
pA @ Ing(z)) =)@ = ge
therefore,
], o o
(2.3) €q apingr _ plng(zey) _ RARg=

we can associate eq. (2.2) to the characteristic equation, we have
[01R? + by R + b3 R™(®) = 0

or

(2.4) biR* + bR + b3 = 0,

whose roots Ry, and Ry allow to write f(z) in terms of the following linear combi-
nation of independent solutions:

2
(2.5) flz) = ClRlln‘I(w) + chl;"(w) = Z CaRlc?E’(m).
a=1

The above example indicates that we can extend well-established methods of
solutions of ¢-difference equations to other types of equations reducible to ordinary
difference equations, after a proper change of variable implicit in eqgs. (1.5), (1.11).

To give a further example of the flexibility of the formalism associated with
exponential operators, let us consider the generalized Heat Equation of the following
type

(2.6) [aaA] , Qe,A) = (P(w) [aax} q) 2 Q(z, )),

Q(x,0) = g(),
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which can formally be solved by rewriting eq (2.6) as

35, Qe - <P(:c) [;xL>2Q(x,)\) o

which can formally be solved by considering this as ordinary linear g¢-differential
equation of order one, whose I. F. is determined as
2

(r@[&],) 4r _ Alp@[&],)

_f
€q = eg
therefore, we can find its general solution as

Qane, PO _

2

where C' in any constant and using the given initial condition, we get

Qx,0) = g(x) = C,

finally, we obtain the solution of the Heat equation (2.6) as

(2.7) Q) = s PR .

using g-analogue of the identity [20], we have

+oo
o 1 —£24-2b¢
SIS B

replacing b with \ (p(x) [8%](1)2 , we have

AMp@[£2])? 1 [t
(2.8) QWL ﬁ/ eg & VL,

with the use of the eq. (1.5), finally yields the solution of eq (2.6) in the form of an
integral transform, which can be viewed as a generalized Gauss transform

p@)|[2],)” e -1
62( @] }q) g(x) = %/_ qu g(@(Zf\/X@QO (2)))dg€.

or, in other words, we have

1 [t »
(2.9) Q) == / e g(p(26VA & o} (2))dE.

T J—-c

It is evident that the formalism associated with generalized exponential operators
can be exploited in many flexible ways in finding the general solution of a large
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number of problems.
Before discussing the problem in its generality, let us recall the g-analogue of the
Euler formula (see [8], [11] )

—ix

(2.10) cosq T +isingr = e’ and cosgr —isingr = e ",

Now consider the problem of the following type

N
(2.11) Z ba f(z cosy(a) ® V1 — a?sing(a)) =0,

which belongs to the families of generalized g¢-difference equation. This equation
can be obtained by the action of the g-exponential operator on the function f(z)
and application of eqs. (1.3) and (2.10), we have

N
Z b,lf(sinq(sin;1 x) cosq(ar) B COSq(COSq_l V1 —2a2)sing(a)) =0,
a=0

L) sing(a)) =0,

N
Z (sing(sin, ~Lx) cos,(a) @ cos, (sing

N
Z b(lf(sinq(sinq_1 x®a)) =0,

d

St ) <o

According to the discussion of the previous section, the use of the g-exponential
operator

N —~
> baE, f(z)=0,
a=0
where
—~ JIaZ[4
(2.12) By=ec, ],

allows to cast (2.11) in the operator form

—

(2.13) U(E,)f(x) =0, where WU(E, Zb E2.

In this case the SF ¢~ !(z) is associated with (2.12) is

(2.14) o M (x) = sin;1 x.
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Independent solutions of (2.11) can be constructed in terms of the function
Rsing 1(;1;)’ which satisfies the identity

% psin. Nz a psin ! (z
(2.15) E, R*Ma (@) — Ropsing (@),

the general solution of (2.11) can finally be written as

N .
(2.16) fl) =3 carA
a=0

Similarly, consider the following example, we have

N
(2.11%) Zbaf(zcosq(a) e V1—a?sing(a)) =0,
a=0

which also belongs to the families of generalized ¢-difference equation.

. _yiTE[a
(2.12) By=cq (1,

allows to cast (2.11') in the operator form (2.13). In this case the SF associated
with (2.12) is

(2.14) o (x) = cos; ' x.

Independent solutions of (2.11”) can be therefore constructed in terms of the function
Reos™ (®) which satisfies the identity

(2.15/) E\qaRcosgl(z) — RaRcosgl(x).

The general solution of (2.11’) can finally be written as

N —1
(2.16") fl@)=> caRa " @
a=0

Where R, are the roots of the characteristic equation
(2.17) U(R) =0.

From the above discussion it is now clear that, whenever one deals with equations
of the type

N
(2.18) D baf(pla® e (x)) =0,



356 Mohammad Asif

one can associate it with the generalized exponential operator

—a  ep(@)[dE],

(2.19) B =, ,
which allows to cast (2.18) in the operator form (2.13) and we get the relevant
solution in the form
N jo g
(2.20) f@)=> " caRa .

a=0

Moreover, let us consider another interesting example, we have

N
(2.21) baf( x ) o,
az:% 1—ax

M)

zZ [ d
q ld«

by making use of the shift operator e, ¢, which allows to cast (2.21) in the

operator form (2.13) i.e.
Al 1
> bt () =0,
a=0 a-z

x

N a2 [g] AN
Z baeg * T f(x) =0, or Z boE; f(z) =0,
a=0 a=0

q ldz ], -

N
whereE'; = eq , U(Ey)f(z) = 0and V(E,) = ZbaE;a. In this case
a=0

the SF associated with (2.11) is ¢~ 1(x) = —%, Its solution can thus be written as

8l

N
(2.22) fl@)=> caRa".

The validity of the above solutions is limited to the case in which R,, is not a multiple
root, of the characteristic equation; this point will be discussed in the concluding
section.

In the tunes of Dattoli et al. ([2]; p.656(26)), let us introduce the following ¢-
analogue of the operational identities:

EqiabfT o = propl o
(2.23)
~+ta ~x dg€ z dg§
B, (o) 75 () = b/ 7S BE)E g (w)

valid for exponential operators of the form (2.19).
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We note that according to the first of (2.23) the non-homogeneous equation

(2.24) W(E,) f(z) = b 7

where C' is a constant and b is not a root of the characteristic equation, admits the
particular solution

(2.25) flz) =

In the slightly more complicated case

— I g€

(2.26) V(E,) f(z) =Cb @ ¢(x),
the second of (2.23) yields

27 e —eY
(2.27) f(z) © \Ij(qu)¢($)

Further comments shall be discussed in the concluding section.

3. g-Anologue of Generalized Shift Operators and Jackson Derivatives

The linear equations involving discrete power of the g-exponential operators
have been considered in the previous section. Here the examples are discussed in
which the arbitrary exponents are taken. The introductory example is

€/\$ — X
(3.1) M = g(@),

The use of the dilatation operator allows to cast eq. (2.27) in the form of a the
Jackson derivative [9], namely

Ah[ 2L

eq [dz}q -1
(32) “ ) = o)
where h = ﬁl, f(z) is unknown, A € C, and g(x) is an analytical function.
The operator on the left hand side can formally be inverted and by writing the
differentiation variable in terms of the inverse of the SF we find

(33) f(eé) = WQ(%)

o

The operator on the right hand side of (3.3) can be expanded as
A A

il [di} + ()\h [dd]q>2 - (Ah[ﬂq)3+~--
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1 1 d 2 i1\’
4], [1 “ et e, * (Ah E: )

¢’(g—1) d ’
" 2, B, (”‘[déD * ]

_ h[iﬂ [Bo,ﬁﬁlljxh USLJF%ZQ!(M LZL)Z---]

A 1 By dl"
(3.4) egh[—g] .,k [%L nz:% [n]q! (Ah) [df]q
where
2 30
(3.5) Bog=1,B1, = —[21](1,32,(1 - ﬁq!,B&q _ _q[2(]i[4]j) .

are Nalli-Ward-Alsalam(NWA) g-Bernoulli numbers (see [5]; p. 27 eqs. (146), (148))

-1
and [%} is the g-antiderivative of the g-derivative operator with respect to &.
q
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Since g(z) has a g-Taylor expansion (g(x) = Z bnx™), we get from (3.3) and (3.4)

onr [, (Emere)

ﬁq [BM Bl 1)

d
E:
B d ’ =
3,9 mg
+ A [} 4. bime
ol G R Pl
| [ Coral a1\
s
_ 1AhH + <)\h[ D
d 2 d 21,'13],! d
h [?&]q [2]4 £, [1214!8lq 3
3g—1) a1’ &
7°(q — me
——= [ A\n|— NE bime
[2]q[3]q![4]q( [«%L) ] g::o a
1 > 1 >
= — bo+meeZ”5—W/\thm[m emt
h |:d7£:|q m=1 q m=0
+ q2 (/\h)Q i bm[m]Qemf q ( )\h 3 i bm 3 m& +
2]4![3]4! = 2403
- b€ + i D me Ly i bme
h —mly © 2lg
2 o0 o0
q 2 me a°(q 3 2 mé
+ (AR) b [m]gel’s — bm +
[2]4![3]¢! m;) 2403l WZ::O
bo& 1 Ah o (AR)? -t
=25 et |1 s
h h{ T\ BT
by ol 20 ([21gM)? o
L e 11
TR R { i ( 2l Bl "
. bOf bleg n bgegg i
B+ R+ G ) 2l + (B @ )
bt N Absef N Abge2€ N
- \h)2 \h)3 2] N M2 | ([2]a0h)3
S R i o ok o
bo& )\bleg /\b2635 )\b362£

-+ + +
h egl}qh)\ 1 e([12]qh/\ _1 egﬂq)\h _1
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or
e bo&
(36) Z Vi P Py m]q 1 T
going back to the original variable, we get
R Az™ bo Iny ()
(3.7) fla) = Zlbmegh[’"h T

The right hand side of eq. (3.6) provides the solution of our problem.
s (_1)m1.2m+1

m (2m+1)§

2m+1

1mel (2m+1)¢

Take another example g(z) = sing(x) = 7;) PRSI we find
fleg)
1 iBn,quh)" { d}"i(—l)meﬁm*”ﬁ
h % —  [n]g! d¢l, = [2m+1]g!
L™ dq
o B d B i1\’ =
= | By + 1q)\h[ }+ 2.0 /\h{ ]
pla] | W Lagl, T Rl de |, mz::o
L _q -
.l 1 d 2 i1\’ =
q
- - T A[ ]
h d%_ [2]4 {dﬁ} [][3]q!< d¢ q> n;) [2m +1
. L
1 & ) 1 = (=™
: @m+1)E _ A\ @m+1)¢
hz 2m—|—1 2m—|—1] 1% h[2], ; 2m + 1),
2
q l 2m+ }q (2m41)¢
A Z 2m+1 “a
( 2m+1}
_ 3 N7 T g (2m+1)E
[]q 'h Z 2m+1 “a
= (= >m e { Al2m + 1], ( 1 1 > > 2
_ - + — A 2m+1
2 i 2m+11 2, @ m )t
(1 - ))\3[2 + 12 + ]
m DR
4]q' 2 3]q (1292 !
—1
X (=D)mey e L ARm gt NRml
Oh2m+1 [2m + 1],! 2]4! (3]4!
or

A ( ]') 2m+1
(ef) = e(2m+1)¢
q Z eé\h[Qm"Fl]q 1 [2m + l]q! q
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or

A (_1)m 2m—+1
3.8 = o
(3.8) f@)=) ey [om + 1,1

This is essentially the series defining g(x), provided that b, is replaced by

bmA
It e.g., we take g(z) = cos,(x), we find

hmle
A =™
3.8) Ja) = @,
( Z 6:1\’1[2771]11 _ 1 [2m],!
and for g(z) = 6§p, we get
_ = A Pm Iny ()
(3.9) flz) = mZ::l eptrmla g [m]g! AT

We, therefore, conclude that the primitive of the Jackson derivative can be con-
structed according to the above mentioned results.

This method can also be generalized and the concept of Jackson derivative extended
to other forms of exponential operators. In this case we consider equation of the

type

(3.10) (D eon@IOVIZ ) _ ),

with the assistance of eq. (2.12), we write the eq. (3.10) as follows

)\\/l—mz[i]q

or
W],

e _
(3.11) 4 3 flx) = g(x),
by assuming g(x) is an odd function there taking z = sin, &, we have

d _|d dx B d
&, - &), (&, - ol

DL

%f(smq §) = g(sing§),
or
(3.12) F(sing €) =
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let us find out the expansion of the first factor of the right hand side of the eq.
(3.12) with the help of the eq. (3.4), we have

(313) (sing€) = [Cjﬂ_l i prae [ ] o)

since g(z) in an odd and analytic function, then g(sin, §) can be expanded by g-
o0

Taylor expansion such as g(sing §) = Z bam1(sing €)™, we have from (3.13)

m=0
f(sing &)
(d] " & Bug, [d]" S
=|—= AN\ | — bom 41 (sing £)2m 1
—df—q 112::0 (]! _d§_qm§::o " !
2m—+1
(d] " S Bug o [d]" el — e it
=|— 4 \m bom 7,
d¢ ], nz::o[n]q! | de | mZo ’ “[ 2i
_d—fl 0 Bnq —d—n oo b2m+1( )2m+1 . .
_ | = A O ( e z§)2m+1[1762z§]2m+1
|, 2w L], 2 e :
B Bigh [ d By X2 [d]? By A [d]?
=|— Bog+ =22 || + == + ==
Ld¢ ], (! Ld€], [l Ldg], Bl [d€],
b2m+1( )2m+ —ié\2m 127’”4_1 2m+1 2m+1—s [2(2m+1—s)]
‘ZW( e Y] s (—1)PmHtmseem izl
m=0 s=0 q

substituting the values of Bernoulli’s numbers from eq. (3.5), we have

(3.14) f(sing€)
4 [ -l e 40

[e%s) \2m 2m—+1
L3 bemn (GO < 2m +1 ) (—1)eil2m=)+1)¢
q

2m+1
m=1 2 * s=0 5
_ Z bamyr (—0)*™ 1 [d ] i 2m+1 (—1)seil2tm=)-+1l¢
22m+1 dé‘ ~ . q
A {d] 2m+1< 2m+1 > ) 22(m $)+1)¢
(2] Ld€], =

g e, 5 (),

s _i[2(m—s)+1
(—1)%eil2(m=2) ]s_...}
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—1 [2m+1
_ Z bam1(=0)*™ ! [ d Z 2m+1 (—1)eil20m=s)+1l¢
22m+1 d{ v S q q

s=0

2m+1
_i i ( 2m+1 > (_1)S{i[2(m—g) +1]q}e'(i1[2(m—s)+1]5

[2]q s=0 S
avg  2m+l
b 3 (M) 0tz - 5+ 1) ]
q  s—o q

b2m+1 2m+1
- § : 22m+1

2m—+1
_L Z ( 2m +1 > (_1>sefl[2(m—s)+1]f
[2]q $ q

s=0

s i2(m —s) + 1,

2m2+1< om 41 ) (_1)562[2(m*5)+1]§
s=0 q

G*\? gl ( 2m +1
+ |
q

—1){il2(m — s ei[2(m—s)+1]§ .
BB 2 . )q( 1 {i[2( )+ 1]q el 1

b2m+1 2m+1
- § : 22m+1

A
{1 — mz[Q(m —s)+ 1]+

if2(m —s) +1]q

2m+1< om 41 ) (_1)562[2(m*8)+1]§
q

b1 (—4)2m N omt1
-y DO
m=1 s=0 q

(_1)56i[2(m—s)+1]5 ]
{i20m — )+ 1o} {1+ G {i[20m—s) + 1] A+ g {i[20m—s) + 1A 24}
bom 2m+1 2m+-1 om 41
—ZQBIT Zo< N )q
, (=1)°A(egf)>0m =t
{il2(m—s)+ 1 A + g {i20m—s) 1 A2+ gl {i[20m —s5) + 1AV +- -
bamar (=02 [ 2m 41 (=1)*A(cos, € + ising §)20m )+
-3 ), |

922m+1 S eZ[Z(m—s)+l]q)\ 1

s=0
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or
. . bomi1 N, .
flsing€) =) ;,jjl (—i)2m+1
m=1
T ama 1) (CD(/T=sing € +ising X9
. Z S i[2(m—s)+1]gA 1
s=0 q eq —
finally,
= b2m 1A \2m
(3.15) flz) = Z 22mJ,r+1 (_Z)2 1
m=1

2%1 2m + 1 (_1)5( /1 — 12 + i$)2(m—s)+1

= S eé[z(m75)+1]q>‘ -1

It is interesting to note that, in this case too, the criterion to evaluate the primitive

of the Jackson derivative, associated with the operator (2.12), can easily be inferred.
Let us note that the procedure we have discussed can also be extended to the

cases involving the generalized Gauss transform. In fact the solution of

AL
(3.16) G ) = gl)
or in other words, we have
A
(3.17) —————9@) = f(z),
NEFy
eq -1
let us suppose z = €5, then |-L = [i} dz = €t [i] = x[i]
pp T ], delq |dc], qldzlq dzlg
now from eq. (3.17), we have
A ¢ ¢
(318) Wg(eq) = f(eq)7
eq -1

further, after following the steps as we followed in getting the result (3.4), we obtain
the expansion of first factor of L.h.s. as

19 Tl el

9
_ 9 n=0 q
€q 1

now by the virtue of the analyticity of g(x), we expand g(x), by g-Taylor series, i.e.

d —2 oo qu . d 2n 0o e
e =g g |, X b

9 n=0 4 m=0
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proceeding of the steps as proceeded in finding the result (3.7), we obtain

o )\ -
Fe) = bnspp— < * 4+ bo¢
eq -

m=1
or in other words, if we take by = 0, then
o] )\ .
m=1 eq 71

Further comments on the results of this section will be discussed in the forthcoming
concluding section.

4. The Remarks

In the previous section we have considered ¢-linear difference equations, a (triv-
ial) non-linear example, g-analogue to Riccati equation, is given blow

(4.1) flweg) = f(z) + 0" f(zey) f(x) = 0,
which can be solved using the auxiliary function g(z) = ﬁand thus getting

1 1

- Ing (z) —
7@ ey TP 0

or
(4.2) g(weq) — g(a) = b,
from the operator (1.5), we have

(1.3 er Fligla) — g(a) = o),

or in other words we write the above eq. (4.3)as

ping ()
g(x) = W
g -1
1
S PR 2 )
. hz|-4+ 2hz|-L 3 .
=—|14eq [dl}q+eq [dL]q+eq [dl]q-f— pina ()
B PR L PO O B o ) PR S B P
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— |:b1nq (x) + bblnq((L‘) + belnq(af;) + bSblnq(Q:') 4.
blnq(“’)
b—1

= _ [1+b+b2+b3+...] pina(x) —
thus finding as a particular solution

1 b—1
(4.4) flz) = g@) P

Moreover, in general, equations of the type

N
(4.5) D baf(ele @) @ @) = e f(a)]",
a=0

standard perturbation methods can be used. At the lowest order in e(f = fo+€f1)
we find

N
(4.6) 3 bafolpla® o (@) =0
a=0
and
N e dge
(4.7) S bafilpla® o (@) = RV o,
a=0

where R is one of the roots of the characteristic equation associated with (4.5). The
first-order contribution f; can therefore be evaluated by using eq. (2.15), which
should be modified as follows:

(/s dqf)bf””%—l

p(§)

(48)  f@)= vy Y=

)
R=b

El v

if b is a simple root of the characteristic equation.
Let us now go back to the problem of treating g-exponential operators of the type

el
(4.9) Em, = e,?(p( L#L)"

We have seen that for m = 2 and A > 0 they can be viewed as generalized Gauss
transform. Before discussing the problem more deeply, we recall the following im-
portant relation [2]:

A& o prm)

eq x n ((E, >\7 q)a
(4.10) 2]
Hy(Lm)(x,)\;q) = [n],! Z

r=0

)\rmn—mr

[r]g![n —mr]!
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Which holds for negative or positive A and Hr(Lm)(:v, A; q) are g-analogue of Kampé
de Feriét polynomials, and satisfy the identity

0 a1
I (m) cq) = | (m) .

q

According to eq. (4.8) we also find
A& Ml S b )
(4.12) €q g(z) = eq Z bpx™ Z b H™ (2, A;q).
n=0
It is therefore easy to realize that
(4.13) EMz = Z o H™ (F :q),

where we have assumed that the function F~!(-) can be expanded in the power
series

(4.14) F7HO) =) énl™
n=0

It is clear that eq. (4.12) can be further handled to extend the action of the operators
(4.8) to any function g(z). It is worth considering the possibility of extending the
definition of operators (4.8) to the case of not necessarily integer m. In the case of
m = % eq. (4.9) should be replaced by

=

&L

(415) €q H( )(x i q),
4.15 2n ron—L
(3) A"
Hp? (x, A q) = [n],! — .
( )= Il Z [rlg!Tq(n— 5 +1)

r=0

It is evident that in this case Hff)(x, A; q) is a relation analogous to (4.10) holds,
namely

%1 L&) 071 b
(4.16) [ } Hp?'(z,X;1q) = [ ] Hp? (2, Aiq).
ON ], 2
or involving semi derivatives [13]
0 S 81° (1)
4,16/ 2 HD @ ag) = |=| B (@0
(4.16") [m} (=, A q) [axL (z, A q)

This definition can be extended to any m = %, for some integer p.
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